
No.of Printed Pages:4

PE5002                               Roll No.:.¨ ¨̈ ¨̈ ¨̈ …̈…・

Nov.2022

PETROLEUM PRODUCTION ENGINEERING
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(a) eq
(c) Tfui-{t
The process by which
formation
(a) Perforation
(c) Workover

(b) aq{
(d) dsiltq

communication is gained with the casing, cement and

(b)  Drilling

O)Stimulation

(l of4) P.T.().
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Which of the following is a circulating device ?

(a)  Sliding siceve

(C)  POrtcd nipplc

(b) ffs6fd{
(d) 3c{-6{tfr

(b)POned cOllar

(d) A‖ ofthe above

(b) +6r
(d) +Is6nqr

(b)  PaCker

(d) POrted collar

(b) &Ftrcf{clrf
(d) 3Y{ffi{n+t{qifr

(b) HoH節ntal separator

(d)None ofthesc

(b) sqr
(d) 3c$-ssS

(b) HCat
(d) A‖ ofthe above

(b) > 95 cr{fi}+6s-s
(d) > l50crlft1+su-s

(b) > 95 micro second
(d) > 150 micro second

The device that is run to form a seal between the tubing and casing

(a) g(HIsre
(c) ril-ftqd

(a) Safety valve

(c) Go‐Nipple

(a) P{drs-d

(c) cft&c-6

(a) Solvent
(c) Dispersant

(a) < SO qrf*l*+s-s

(c) > tZOqr{*}ts,o-s

(a) < 50 micro second
(c) > 120 micro second .

(a)   2‐ 3

(c)   7‐ 9

(iV)¬｀―:h卿 き,ヽ,哺
`Ч
もぃ,耳国市ミ

(a) rfficfufls-{
(c) 3qiq{f{trrd6
For low gas-oil ratio, the most suitable separator is

(a)Sphedcal separator

(C)Vertical separator

(v)伴命億1青含鋪輪曲珊蒻れ 漏Mお81誡希衡R,楠Ч:。 Iミ ?

Which of the following method is used for removal of paraffin wax ?

ぃ )ョ 編 前 Ш  HЧ

"硼

希 腋 引 m硼 燎 可 さ

What is the short time travel record for strong formation by sonic log ?

(宙D`u"油 口 爺 新 希 欽 釧 ざ G― Saり IG倒 lミ ?

(o 2-3

(c)  7-9

Whatis the ideal G S ratio for best 8Tavel packing?

0)5-6
(d) 1-2

(b)  5‐ 6

(d)  1‐ 2
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(a)満 輸

(C)3即 q:"―
(b) +6{ft{tc
(d) *oqcrq

Which of the following is not a workover mechanical rcason ?

(a) Casing failure O) Packer leakage

(c) Safety valve failurc (d) Scale deposition

tixl * <qn furrq+ 6ra ord gmlq + frs Yfr srqqrrur qrrq flI i i
(a) 5-l0ftr{z (b) 2-s ft{c

(X)

・
)赫 ま (b)― ま

(c) Bare foot hole (d) None of these

tnn-t
Section - B

ヽ き¬で都 引 さ?

Whatis the basic nttЮ tion ofwell head?

漂 輸 6● :q・Iず油 希 椰 縁 5可面 論

…

翻 訳 l

List the pHmary functions ora typiCal productiOn facility

赫 論
":靭
:翻改 l

Explain demulsiflcation

お
…

爾燕 引き?

Whatis the oり ectiVe Ofwen completion?

爾 輸 (FD)希面 )命嗣 珊 t?
施 t are the methOdS for rclnoval off0111lation damage(FD)

ヽ 帥 。Ч:｀轟 ｀ 帥 哺
哺耐 M翻 訳 l

Defme ba1100ning and reverse ball∞ ning.

(c) l fr{c (d) lo-15 ft-{d
What is the suffrcient retention time for good separation by a high pressure

separator ?
(a) 5-10 minutes (b) 2'5 minutes
(c) I minute (d) 10-15 minutes

i+q r*R 61 6mft{q gg 6m *Idc ilts 3ilt<l trfi i ?
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8. +**<E<*l6{q17
What is the function of workover fluid ?

e. tddrEfin{ff frfudy-onff rq,{*ryri a

What are the various types ofgravel packing techniques.

tm-S
Scction - C

10. frccsflwrt ? ffrrtA*E*1*qr6qr3q:Fsrs ft+rd Slfrq*srq
6Ge t

What is Christrnas tree ? Explain the component of Chrisfinas tree with suiuble neat
and labelled figure. (2+6)

赫 論調Ⅲ 翻改 l劇嗣 赫 希転口 爺 w揃面 奇 ":留 1翻改 |

Classi″ scparatOrs Expldn thc p●nciplc and working of horizontal separator  (3+5)

油 甲輸覇キ甲 踊甫論蕪 翻ミ 10調臨 よ甲嘲田 奇Чig:3蒔訥
漁 綸 き神 誦ミ l

List the basic types of well completbn.Explain he open hole completion Ⅵith their
advantage and disadvantage                  (2● 6)

輸 日Ч
"Hき
鋼 翻 輸 き?疇前3k xqtt u:1綸 姉 na翻 a論

"luI
せれ ,露稔Rl
What do you mean by脚ゴ6n depOsilon?DescHbc bHeny the removal of pararln
wax lrom tubing and flow lines. (3+5)

14. trs rfirqi * xr<uil ql iQq { suii frfus r rr+svn Uqi+ ff qrsr *Fcq r

Describe briefly the causes of sand production. Explain uniformity coefficient. (4+4)

r5. rq *t qcrq +6{fr Hr sd(t i sicr€t6{ *qldft{fus r

What is diffe rence between retrievable and non-retrievable packer ? Write the
functions of production packer. (4+4)
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